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AEH A IKiE KiE Bn Alexandrium s Dinophysis &
(°C) pp- D. forti D. acuminata F DD Dinophysis
. Om 14.90 32.82
T 5m 15.61 33.69 10 0 30 0
Om 14.98 33.47
@fAH 5m 15.47 33.76 0 0 10 0
10m 15.56 33.80
— Om 15.03 33.61
@=viR 5m 14.86 3363 0 0 0 0
Om 15.69 33.88
@EFE om 15.73 33.93 0 0 0 10 D. tripos
10m 15.73 3393
®ER 10m - - 0 0 0 0
®XiR 10m - - 0 0 0 0
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@mER Alexandrium spp.(cells/L)
OB [QBHR Q- ViR [QEHE [0ORE [OAR Alexandrium spp.
4A1HE 20 0 30 0 - 0 5000 426
4A8H 0 0 20 0 0 0 4500 24
4H178 90 0 0 0 - - 2
4H228 70 40 40 0 0 0| 4000 50 —~
5A7H| 130 10 0 0 0 0] FBsoo 18 e
5HA13H| 420 10 0 0 0 o]l = g
58238] 2390 290 40 30 - 10| 3000 16 =
5H27H| 890 350 110 20 0 0 ﬁzsoo 1142
B o
6H38| 490 430 4360 - 10 o] H {123
6848 = = = 110 - | 2000 1 10
6H10H| 860 550 20 0 0 60 1500 18
6H18H 60 70 10 20 - - le
65248 30 10 0 10 0 0 1000
7A18 30 0 20 0 0 0 00 14
7898 190 20 20 20 - - a 12
7A168 60 70 0 0 0 0 0 =i Arlise-A—a H BAATA A Aa NN}
78228 0 0 0 0 0 0 M @ O O M @ O @O O @ @ M @O @O O m
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78298 0 0 0 0 0 0 m = N 9 & 9 & @p & @ oA < n oo
8H6H| 50 10 0 0 0 0 - - A A - - I - T =
8H19H 40 0 20 0 0 0 - -
8A268 10 0 0 0 0 0
98188 30 0 10 0 - -
98258 0 0 0 0 0 -
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108168 0 0 0 0 0 0
10H218 0 0 0 0 0 0
108 28H 0 20 0 0 0 0 O 7 (G — AR
11858 60 0 0 0 0 0
AR 20 0 0 0 0 -
11A18A 10 0 0 0 0 0
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DA |(QBHA |Q-ViE | DEHIF |©EE |OXR D. _fortii
4818 10 0 0 0 - 0
4H8A 0 0 0 0 0 0
4A178 0 0 0 0 0 o] 3%0
48228 0 0 0 0 0 0
5A7H 0 0 0 20 0 20| 300 _
58138 10 10 10 0 0 0|3 L
58230 10 10 0 120 - 120 | 3 250 §
5H278 0 30 10 60 20 300 | = b
6H38 10 170 90 - 10 20 ﬁzoo 1
6548 - - - 0 - B =
68108 20 70 40 130 70 30] ~ 150 2
68188 30 40 90 150 - -
68248 10 40 70 20| 100 80| 100
7A18 10 10 0 10 0 90
7A98 0 10 0 0 - 14 <0
78168 0 0 0 0 20 0
78228 0 0 0 0 0 0 o ) oo ,_ 4 o
18298 0 0 0 0 40 0 M O 0 0O O @ O O O O O O OO @O O
8H6H 0 0 0 0 0 0 2892 3R9IPALIHFYRIT YT
8H19H 0 0 0 0 0 0 < @@ M @M O @ I ~ @ » @K , @ K O X O
8H 268 0 0 0 0 0 0 D = * @ @ 2 2 3
9H 188 0 10 0 0 - -
98258 0 20 0 0 0 -
[T - S 3 g 2 ——DE  —e—QBAE  ——O-VE  -e-@3HE
108168 0 0 0 0 0 0
BRI 2 : n—= 2 e (G —
11858 0 0 0 0 0 0
AR 0 0 0 0 0 -
11H188 0 0 0 0 0 0
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OEE |QBHAR Q- ViR @&+ |OFER (©OKR D.acuminata
4A1A| 820 0 0 0 - 0
4H8A| 1380 50 10 0 - -
4A178[ 2430 - 10 10 - -
48228 30 20 0 10 0 30
5H78] 630 20 0 40 0 10
58138 0 50 0 50 10 50
5H23H| 270 160 20 40 - 0
55278 40 70 10 40 0 300
6F3H 10 30 50 [ 20 10
6548 - - - 30 - -]
6H 108 40 180 0 0 0 20
6H18H| 180 30 0 30 - -]
6H248] 1190 10 0 0 0 20
7A1H[ 1050 40 0 0 0 0
7A9H[ 2680 0 0 0 - -
7A16E] 210 30 10 0 0 0
78228 10 20 0 0 0 0
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9F18H| 7590 270 10 0 - -
9H25H| 650 0 0 0 0 -
9F30H| 660 10 0 0 0 0
AT TN I : s 3 ——DE  —m-2BHE ——GTUR - e- @EHE
10821A] 360 10 0 0 0 0
107288, 280 2 2 S g TS OKR  ——mEkE
AR 30 0 0 0 0 -
11A18A 30 10 0 0 0 0
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